VRE3 04T A

1 AR TR & AN

" BUHL E T
" " A A " " H
myOT 4 | %K 7 7 > 3 I R /B I (=4 7 7 = T 4 |t %K 7 S 7 P myOT 4 | 3 %}\ % =
Bs 8 1T B 269 285 300 585| T » WEHAT5 T H 534 582 568 1,150 8 BT 7 T H 1, 256 1,585 1,411 2,996 |#il KR 3T H 215 268 241 509
B w2 T H 374 383 381 764 | 2 WERT6 T H 391 397 417 814|%r BT 8 T H 535 649 637|  1,286|/h 4,609 5,188| 5,196 10,384
B W3 T H 290 340 332 672 &t 9,477( 10,345( 10,236| 20,581 |# BT 9 T H 1,380 1, 460 1,161 2,621 —{RE1T H 99 109 102 211
Ta4ET LT B 158 158 151 309 |k 1= 605 655 680 1,335[KJSET1 T H 120 103 100 203| —fRE2T H 329 380 392 772
a5y ET2 T A 86 74 69 143|% LW 1T H 325 413 390 803|AK LM 2 T H 449 497 489 986| —{=E3T H 267 301 313 614
a4 EF3 T A 128 157 173 3308 L mT2 T H 612 689 651 1, 340 il 9,431| 10,827| 9,855 20,682 " f:E4T H 124 117 127 244
£ L HT 276 253 268 521 (% W73 T H 1, 506 1, 465 1,408 2,873[mHET1 T H 795 879 840| 1, 719| “{RESTH 92 107 110 217
FN HT 440 437 445 882|HF W74 T H 775 790 755 1,545\ BT 2 T H 300 367 332 699|3R H 1 T H 71 68 73 141
fif my 214 212 221 433k M 1 T H 793 907 852 1,759 ({30 BT 3T H 233 262 258 520|3R 2 T H 117 130 138 268
1k HT 140 118 134 252|k 4 2 T H 331 398 409 807 [T L T 4 T H 750 718 704|  1,422|3R H3 T H 122 127 112 239
# K T 174 206 212 418|k 4 3 T H 745 863 906 1,769 ({30 BT 5T H 741 736 738 1,474 |8) f& A AT 175 158 190 348
5 W] 433 448 471 9194 A 467 437 521 958 | ET 6 T H 1,223 1,295 1,293 2,588|# & 1 T H 56 49 45 94
K o WE HT 490 519 528| 1,047 |4 2 443 520 537| 1,057l BT 7T H 1,108 1,044 1,134  2,178|#@ & 2 T H 66 65 68 133
W b oE 312 296 310 606 A B F1 T H 283 329 323 652 (T BT 8 T H 804 862 738  1,600|f0  f& (L 40 60 71 131
K H o HT 513 539 535| 1,074 K ¥ F2 T H 267 354 347 7017 L BT 9 T H 937 854 932|  1,786|/h a 1,558 1,671 1,741 3,412
HiafE1T B 205 204 220 424|4 ¢ 1 T H 565 782 727 1,509 ({30 BT10°T H 901 760 765 1,525\ = [ 1 T H 346 253 281 534
HiafE2T B 264 283 282 5654 SF 2 T H 144 194 189 383 it 7,792 7,717 7,734| 15,511|= [ 2 T H 87 94 92 186
HEFnE3T H 305 367 357 72414 ¥ 3 T H 379 501 452 953|#E B 1 T H 181 188 207 395|% [ 3T A 210 153 153 306
i 5,071 5,279| 5,389| 10,668|4 ¢ 4 T H 604 767 725 1,492|# #% 2 T H 1,046 1,333 1,250 2,583/ K1TH 87 111 88 199
B KET 1T H 231 272 263 5354 SF 5 T H 516 643 682 1,325(#% 7% 3 T H 364 430 445 875/~ AK2T H 44 51 48 99
By AET2 T H 357 403 385 788 &t 9,360 10,707| 10,554 21,2614 H 1 T H 1,377 1, 456 1,523 2,979/~ K3 T H 173 203 207 410
B KET3 T H 214 259 261 520 H M1 T H 479 430 508 9384 # 2 T H 1,039 1,103 1,157  2,260(/h& K4 T H 230 170 230 400
Eil1TEH 667 633 657 1L,290|3 F #E2 T H 831 780 814 1,594(4 # 3 T H 879 975 922 1,897 /& K5 T H 77 77 86 163
Ei2TH 726 833 852 1,685\ F #3 T H 1,115 1,077 1,103 2,1804 # 4 T H 0 0 0 O|ER 1T H 277 179 253 432
EiM3TH 398 503 497 1,000\ & #4 T H 768 696 680 1,376(4 # 5 T H 180 65 148 213[E R 2 T H 248 282 267 549
Ei4T B 789 818 921 1,739 F #5 T H 1,002 935 963 1,898 it 5, 066 5, 550 5,652 11,202|H R 3 T H 235 180 211 391
Ei5TH 531 535 541 1,076 |3 & ##6 T H 392 432 399 831 |/) &t 54,037| 58,147 57,219| 115,366 /) i 2,014 1,753 1,916 3, 669
EileT H 230 220 266 486|1R » i1 T H 408 430 432 862/ 1 T H 352 409 376 785(p A1 T H 229 172 246 418
EW7TH 475 499 439 9384k » M2 T H 773 656 770 142608 & 2 T H 412 454 459 913k A2 T H 222 226 166 392
E 8T H 276 308 300 608 |fifi [d BT 1 T H 336 402 383 785|0M 3 T H 445 525 491 1,016 A 3 T H 101 121 112 233
EioT H 4 4 4 8| [ mT 2 T H 721 808 790 1,598(Fn HET1 T H 210 243 243 486 A 4 T H 59 52 52 104
KHEE1LTH 310 334 335 669 |fifi [d BT 3 T H 571 593 544 1,137(fn HET2 T H 296 322 344 666 A5 T H 72 65 72 137
K HEE2T H 329 308 303 611|ffi [d BT 4 T H 444 423 413 836|#E # 1 T H 158 198 189 387\ A6 T A 36 45 41 86
K HEE3T H 316 388 359 747 it 7,840 7,662| 7,799 15,461k 45 2 T H 173 189 216 405|p% A7 T A 70 75 75 150
K HEE4T H 311 379 367 7468 BT 1 T H 1,220 1, 420 1,339 2,759\ 4% 3 T H 181 212 206 418|pk A8 T A 94 112 86 198
K HEEST H 309 349 351 70008 BT 2 T H 822 970 831 1,801 |#E 48 4 T H 229 261 249 510|/ 2t 883 868 850 1,718
T WET1 T H 657 717 714|  1,431|% My 3 T H 1,562 1,647 1,549  3,196|# 4 5 T H 530 642 662 1,304 (Hi 5B Fr & &F| 9,064 9,480 9,703 19,183
T WiET2 T H 540 597 580| 1, 177|%r W] 4 T H 736 816 793|  1,609|HF # 6 T H 534 643 574 1,217|& 2+ 63,101 67,627| 66,922| 134,549
T4 WEHT3 T H 405 493 419 912(%r BT 5 T H 1,249 1,554 1,418 2,972t AT 1 T H 369 415 410 825
T4 WEHT4 T H 477 514 437 951(%F BT 6 T H 102 126 127 263|fh KB 2T H 505 407 536 943




